(5.8) The heat flow from the earth's crust is 0.060 J m-2 s-1. The mean thichness of the crust is 17 km and the

earth's radius is 6371 km. The average concentration of uranium, thorium, and potassium in granite is estimated

to be 4 ppm (by weight), 18 ppm, and 3.6%, respectively. Assuming that 7% of the crust is made up of granite

(feldspar + quartz, density 2.6 g cm-3), what will the heat flow at the earth's surface be from each of these

elements? Assume [-heat as 1/3 E 5,

3

for a-decay assume E = Q. Discuss the results.
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